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SA Z2EXANEA
MM ARE XSsts AN X4
oY Y AR BEEL2AL (SH2:EH)
2A-F3H-H2A(3) - MY - BES Of] Ak %Ei Hns2Z
OAZIE 42 2,500,000 122 30,000
ONAZAMN 222 30,0009 %37 A 23] 180
OXZEAM =28 150,000 122 1,800
02 2324l 547,237 516, 187 31,050
oORERI 1,275
oISyl 1,770 %205« 128 425
Ooes 34081 %2,5005 850
OYYE 44523 11,000,000 12 132,000
OXEIH L M3 1,200,0009 * 122 14,400
OLZEHIS +=H =22
1509 %10, 000kg* 122 18,000
OZAZSMYI| +H =42
1509 %3,5002| Ef » 12 6,300
oLl Azt 300,000 x50 & 1,500
QU A2l 200,000 *4 2 800
OCCTV ¥ LEDAZ T KX 22/l
600,000 *12& 7,200
OYUPANESE 2Y 22 51,024
OJtedEZR 48 22,0002 «12¢ 264
ORIINAHM E& 7,500,000 %43 30,000
QEAANAY T2 ABL2
50,0002 %100 x 122 6,000
O LHAIAY T20W SANE2E
310,000 12 3,720
O AANAE T2 RABL2
900,000 *12& 10,800
OR&HEHLI| 242 20,0002 «12& 240
ovsa 240
OO0lEx 282 80,0002 »3CH 240
oFEIIe=2 240,000
OAMAZZH 22 134 20,000,000 *128 240,000
OF=E=PL:] 13,559
OFE =3~ 3,349,000 »1CH 3,349
OES=K-3= 2,605,0002! »2H 5,210
OFSEpy} 3,500,0002 »1CH 3,500
OO0l &t 500,000 *3CH 1,500
OBOAIAE AR (17IHA)
150,000 x1704 A =128 30,600
OMSLMAMEA 222 300,000 12 3,600
02+Hel £48 412,920 *33 1,239
0O+-XeY A H2 =22
1,500,000 x 122 18,000
OeXMelH £2l, 24H 300,0008 5553 7,500
SMAF L OIHE JHZ 57,000 10,000 47,000
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SdEEMAEAL EX 7,000 5,000 2,000
307 21201 & 7,000 5,000 2,000
04 QIZHHALALH 2 £ 7,000 5,000 2,000
OYSELNASA EX 7,000
dEEINEEN EX 50,000 0 50,000
307 21201 & 50,000 0 50,000
04 QIZHHALALH B £ 50,000 0 50,000
OHLHE & 0I=HM EX 50,000
geEa2 Alds 28 2 22 1,046,712 1,926,543 A 879,831
A2 242t 236,286 960, 383 NT24,097
101 @124 8] 23,850 79,120 A b55,270
04 JIZtHZ22HEE =+ 23,850 79,120 A55,270
O=4&Al2 22 UAFY 21,224
OeEy 51,7603 x1H «247L 12,785
OFg2R+E 51,7603 «150%* 12 x66 L 5,125
OFx=¢ 51,7603 »1H «x52& 2,692
O xt==g 51,7603 x1Z 122 622
osth 2Eg& 2,626
O=UASEE= 21,221,600 *4.5% 955
OttHEE = 21,221,600 *3.2% 680
(@E=3--R=-R=4 21,221,600 *1.5% 319
OdZdEEE 21,221,600 *3.06% 650
ORYEE= 650, 000& *3.275% 22
201 fEt2E | 94,836 121,336 A 26,500
01 At 22l bl 3,000 6,000 A 3,000
OTAN22d =23578  150,000& * 104 & 23] 3,000
02 32224l 91,836 115,336 A 23,500
OFH& &at2e] =28 210,000& =128 2,520
OFHZ gHEY 200,000& 53| 1,000
OFM2a SXJ] EH nH=HHE
115,500& 364 23! 8,316
OFHM2 &, I A2 & &bl 9,000
oduYll SFU 1,600 *7,000L+5& 56,000
OXSHAL &, &I =2 FHl
8,000,000 * 14 8,000
OXHAtErES 2 2 H A= 7,000
206 M= Hl 61,100 105,300 A44,200
01 = dl 61,100 105,300 A44,200
OZ&X MAZ Z2RH HIT 3¢ 55,100




FN 2ZXAMS A
M A2E NS DX T4
Chel: gexaadX AldE 29 2 2el (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
ONINBEZAE B2 19
4,000,000& *2CH*23] 16,000
OUATFH P DRHE AT Y
550, 0003 *2JH «5CH 5,500
ONQIAS S TR2HE AT Y
500, 0003 *2JH «2CH 2,000
Osf@e ZT2MH T 2
550, 000& *2J4 23] 2,200
OZSHOILSZ Z2HE ¥T 3y
700,000& =24 =16 CH 22,400
Ostets XAt T2REH H#IT 2
500, 0003 =24 7 CH 7,000
OFAIZ 2822 A28 Mz 7¢
500,000& »12& 6,000
401 Al& I 2 O8I 56,500 654,627 A 598,127
01 A& tI 56,500 654,627 A 598,127
OFAIZ HLH D] ZHI S A 500,000& 404 20,000
O50 &z JaFdl 2l 16,500
O40 a2 ot B SA 20,000
HO AL 22 443,145 583,794 A 140,649
101 @144 dl 318,445 413,369 AN94,924
04 DIt Z2XREES 318,445 413,369 AN94,924
OlE % JIEE5E 2% AR 42,446
Oy 51,7603 x2H 247 25,570
Ose2=RE 51,7603 x150%*2H »66 Y 10,249
O=x=< 51,7603 »2H 52 5,384
Ogxt==< 51,760 x2H x12 1,243
oAd Y 2¢ URY 21,224
(@RIl 51,7603 x 1 247 12,785
OsgZ2fs+E 51,7603 «150%*1H »66 L 5,125
OFx=g 51,7603 » 1«52 2,692
OARt=< 51,7603 x 1 12 622
OEI ANQA 22 42 446
ooy 51,7603 x2H x247 25,570
OsgZ2fs+E 51,7603 «150%*2H x66 L 10,249
OFxt=g 51,7603 x2H x52 5,384
O xt=< 51,7603 x2H 12 1,243
OZ2ENE 2Z 2URY 21,224
Oy 51,7603 x 18 247 12,785
OsgIz2f=+% 51,7603 x150%* 1 x66 L 5,125
(OE=PNE=4 51,7603 x 1«52 2,692
OgXt==g 51,7603 x 1«12 622
OFY HAZZ2X A2 36,492
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oogy 51,760& *3Y x52 8,075
(OE=="E = 51,7603 *150%*3Y 122 28,417
Ox=g& L H4)|] 22 o8 53,832
Oolgg 51,7603 * 169 x40 33,127
o522 51,7603 *150%* 16H x 12 14,907
OFxt==Y 51,7602 16 =6 & 4,969
Od Xt 51,760& *16H 829
OFZL YA A 22X 2%
51,7603 *150%* 15 x60 69,876
om=sd (22X |U=) 100, 000& *20H 23| 4,000
o5 8= 26,905
O=0UAZIEE S 217,650,800 %4 .5% 9,795
OttHEEZ 217,650,800& *3.2% 6,965
Oonsegga 217,650,800 *1.5% 3,265
OHLdEsE = 217,650,800& *3.06% 6,661
OoYdEsE = 6,661,000& *3.275% 219
201 et A | 71,700 67,425 4,275
01 AFR2t2l Yl 28,800 23,800 5,000
oOHHMAHL 29=3 7Y 325,000 *8= *63] 15,600
OHHACX &FPAMEHI 150,000& = 12& 1,800
ONAEH 2HE2E ¢ 400,000& x58 2,000
Og A &I 22,0003 *4Z x50IH *3H 4~ 1,200
O0A+-EH 224 TIIHFLY 120,000&*105 1,200
OZEdI (e, XNHI)LXZ 1,000,000 «23] 2,000
Ootetgt 2H=8 #*¢ 100, 000& = 10CH *53] 5,000
02 33249l 42,900 43,625 NT25
OEEI w22yl 6,000, 0003 *2CH x23] 24,000
OE¥YI RFU
1,4003 *2.5km*63] *1.54 *2CH*300 18,900
206 T2 HI 3,000 3,000 0
01 & bl 3,000 3,000 0
ONAEH 4= L M+
375,000& x4E 23] 3,000
401 Al HIL 200 40,000 43,000 A 3,000
01 A& HI 40,000 43,000 A 3,000
OHEHIAIE HEHH B3 A
2,500,000& =2CH 5,000
OSESHE HLtEt)| X 2B A 10,000
OOAEH SIEA B4 U otx=% 2ABA 20,000
OO0 2 & YW AA Bt Z A} 5,000
405 XHaHFE SHI 10,000 57,000 AN47,000
01 At = S FSHI 10,000 57,000 AN47,000
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SN HH-S(BN) - MBAY - B il HlnE2
QHAAL ST L HIFY 10,000
2Z X SFML 367,281 382,366 A 15,085
101 @124 dl 194,861 181,498 13,363
4 JI2ZHHZ22XEES 194,861 181,498 13,363
ONdEXY 2 137,988& x5 x5 +23| 6,900
Oz 12 99,8823 x5H x8 43| 15,982
OZHIN&Y =2 51,7603 *4H «8U x4 3| 6,626
ogdzel o2y 78,720
OooeY 64,0003 x3Y x247 47,424
OFg=z2=g 64,0003 «150%*3H x66 L 19,008
OFxt=< 64,0003 x3 x52 9,984
ORSsit=d 64,0003 x3H 12 2,304
Ostaaztel el 63,667
oersEy 51,7603 x3H 247 38,355
OoFxgz2eg 51,7603 x150%*3H x66 L 15,373
O=Fx=< 51,7603 x3H 52 8,075
ORSsIt=¢ 51,7603 x3H 12 1,864
OREE 22,366
O30z 171,895,000& *4.5% 7,736
OHE=EE 171,895,000 *3.06% 5,260
oRL:EH 5,260,000& %3.275% 173
O&NEH 171,895,000& & x3.2% 5,501
CnE:Ed 171,895,000& *2. 15% 3,696
o1ul =l 100,000& 6 600
201 L2l 53,000 53,000 0
01 At 22l 39,800 39,800 0
Oz=sde 225 ¢
110,000& 1500 A+ 123 19,800
O&FA & HAHEF 2 50,000 +155 128 9,000
ordllefs 7¢ 550& x20,0000H 11,000
02 33224l 13,200 13,200 0
OFtEA AIEEH SXBI(15004)
250,000 * 1504 & 3,750
OMAT L FHAME ANLEH SXH|
250,000 *9H A 2,250
OFSII.MHI S Bt KA
550,000& *4Z& 2,200
OFAXE 2l & A2F WA
500,000& =103l 5,000
206 M= Hl 59,420 70,760 A 11,340
01 =8l 59,420 70,760 A 11,340
Os 2¢ 100,000 x5& * 103l 5,000




FN 2ZXAMS A
X ZXH: al=2
(=R B

SE X&ole 22X =4
StZ2ZX AMEs 29 ¢ (2 &HH)
- _ _ RE]
N BB (3H) - MEAY - BES Ol &F o4 ﬁ}lgﬁ HRE2
OEH & Ha P2 30,000 #2001 6,000
OMz=&gE 235 Mg #+¢
48,000 x10= *43] 1,920
OSIHETNHE X337 F 28,500
O1s% x4 & 0otM3 A H|
1,500& 30 *400m 18,000
307 2Iz2t0| A 60,000 57,108 2,892
05 QIZtR &2 60,000 57,108 2,892
OFA L Ae=24H 5,000,000& x12& 60,000
Lietal 2 dx29 107,102 199,758 N 92,656
SELCIANZE 29 107,102 199,758 N 92,656
201 Bt 44,602 47,402 A 2,800
01 AP 22| H| 2,400 2,400 0
O4A24d =232 2 12,000 «10= *20H4 2,400
02 2324 42,202 45,002 A 2,800
oHstsg g8 ¢ 1,400& »200L* 140 39,200
O A& & H|l K X Hl| 2,640 %1, 137m* 3,002
206 M = dl 52,500 89,900 AN 37,400
01 XH 2 H| 52,500 89,900 AN 37,400
ogAAg 7Y 45,000
OBAZ2 x3l7 ¢ 20,000
OSXAZ DHASES P2 5,000
OUIAMAS BDHAZ 7 5,000
oorgt BMaz2 2 5,000
OsdlEsat nHAS 2 10,000
OfH & 858 2 15,000& *2& «100 1L 3,000
oOgdls 2M s272e 20,000& *7& 15 2,100
AZSWHE 2H L HE2Y
12,000 *4E *50 & 2,400
401 AlEHIZL 201 Y| 10,000 40,000 A 30,000
01 Al&H| 10,000 40,000 A 30,000
OZ2ELlct Al=& AI&)D 10,000
OZ2EUA=ZR] 285 &8 AMNAE 2=
= At 10,000
22X X4 2,070,582 5,975,088 A 3,904,506
N 800,000
= 240,000
= 1,030,582
X e (g mEaEIX =4 1,600,000 3,700,000 A 2,100,000
Xl 800,000
= 240,000
= 560,000




FN 2ZXAMS A
HH: ARS NPt BB £4
& 22X x4 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
T AEHZXEUY 1,600,000 3,700,000 A 2,100,000
Xl 800,000
< 240,000
s 560,000
01 A& HI 1,595,000 3,695,000 A 2,100,000
OYBEAZI =4 1,595,000
Xl 800,000
= 240,000
s 555,000
03 Al S THHI 5,000 5,000 0
ogazZaN =4 5,000
Satmat2 X JIBEAI S J I (XA 420,582 865,088 A 444 506
201 Let249] 97,822 99,153 21,331
02 =24l 97,822 99,153 A 1,331
OFIIGHE BRI HE 442
1,322,000& *30 2«12 47,592
oOLHI KX 2el 800,000 »4CH 3,200
OXItE MIILHI(SE/LAH) AMxE
850,000 7K & 5,950
0s2dI| AL & ESxr2
250,000 *9IH A+ 12 27,000
Os2I| HIEAN =25 120,000 *9H A 1,080
OBfa 2XEX OATE 24+ & WX
2,000,000& =44 2~ 8,000
oOfYz ZESL F&AXYH KA 2
50,000& x100m 5,000
206 TH 2 HI 112,760 95,935 16,825
01 MHZ 4l 112,760 95,935 16,825
oget MIIXH e 20,0003 *25& 5004 £ 25,000
OJ2s B2¥S 88X & HFI P
80,000 28974 x1/23] 11,560
OXZTERS &= & otFI| #¢
1,000, 000& 26 S *1/23] 13,000
O0ZH EZs % MEE 256t 2F NN+
2 200,000& 504 10,000
OXs XEMNHI A2F P&
750,000 x2Z *90H A +1/23] 6,750
ogrxy 2 5,000& *20001 =128 12,000
O&FAIZ LEDHE P 110,000& 2504 27,500
Ox=2l8 7 2¥ 2,000
OZ&xd Z0ILkelol =clf SMPS & Z==A|
£ LED 7 ¢ 50,0003 *1987H 1/23] 4,950
401 Al EHI L 2O 210,000 670,000 460,000
01 A& HI 210,000 670,000 A 460,000
OZ23EoAH 55,000
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00
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
o 630,000
401 A& HIZ 201 I 1,800,000 0 1,800,000
X 900,000
= 270,000
s 630,000
01 A& HI 1,795,000 0 1,795,000
O =z a0l HEAIE &AL 1,795,000
Xl 900,000
< 270,000
[ia 625,000
03 A2 2 0HHI 5,000 0 5,000
O 9EX diditeltt BHEAIE LAY 5,000
HH2F A 145,776 146,376 A 600
2B (ZRTA L) 145,776 146,376 A600
HEFAFH 3,000 3,000 0
203 YR =&y 3,000 3,000 0
04 RSS2 3,000 3,000 0
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201 LB-2dH| 75,996 76,596 A 600
01 At 2t 2l 75,996 76,596 A 600
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04 bl 66,780 66,780 0
202 odl 66,780 66,780 0
01 = LH o4 1l 66,780 66,780 0
OJlegf+=a8 0l 200,000& x21F x12& 50,400
O=WH&=Z0HI 65,0003 x218 128 16,380




